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[ vision72TASK1[ A graph and a chart, gragp shows the number of
holidays taken by British people and place(in Great British and
abroad). The chart shows the activitivs that the British people spend
their holiday(see-signing, reading, hobbies and so on). TASK2:



Many pearents use punishment to teach the different between right
and wrong to kids. Many think punishment is necessary to help
children learn the distintion. What degree do you agree or
disagree?What kind of punishment do you think can pearents and
teachersuse?l 0 0 O OO0 00O OOPUNISHMENTO O O 74
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meaturement of a countrys success.somebody says it is peoples life
quality which has nothing to do except money,others argue that it is
a rich economy .What is your opinion?l] [ : What is the success to a
country? Some people think people should enjoy a high-quality life,
there’ s nothing to do with money. Other believe a rich money is a
key factor to a country. What is your opinion?0] [ v75t 100 [ [ bar
chart 20000 DO 0000 ooooooo.oon
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thetruthonalltimes. J O O O OtellhesO OO O OO O itisnota
wrong thing[d task2,tell truth all the time is not essential.on some
occassion you have to tell lies.to what extent do you agree or
disagree?l] [J [0 VERT76 task 1: a line graph and a pie graph describe
daily demand for electricity in England in winter and summer (tow
lines in this graph)graph 2 describe to use electricity in 4 different
ways.Heating room ironing 86% [J Repairng 92%0 [ O 0 [
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OO0 MENO WOMENDO BOTHUO Task 2people use computer in
shop,bank...without leaving home.someone think it is danger
because it may makepeople isolate and lose the social skills(OJ O [
[ O 0O O) to live with others.to what extend do you agree or
disagree thisopinion? 0 0 0 0000000 OOOOOOOO
DO0O00000000000 O People use the computers when
they work , go banking and , but somebody argue that it will make
the people isolate and decrease social skillsTo what extend do you
agree OR DISAGREELI O VER 7900 U O bar chart I 3D [

[1 population decrease rate in manchester, birmingham, livepool and
somewhere PO O OO0OOOOOOOODO40%O0O0OO0O
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[ crimeld O 60%0 O O O rubbish 40%0 [ O noise, neighbour(
[J 00 500 barwaste disposal become increasing problemhow do you



think it is trueand give some suggestion for goverment and
Individuals how to reduce the rubbish being producing.v790] task1
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problems increasing especially in urban area” suggest what should
government and individuals do can help reduce a amount of rubbish
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